Problem H — B3 3§
BRI BR #: 2000 ms

B H R :

HMNB@EEL, SERFHRE—EXXFE  SREFEREERFZINET X, Y, RABRERLRE
RXEIYHNRERER , XY BELNFRRFER—EFSE (ZEX, YHWFER), BFREAE
3, Al X ATBUEB LB R EER] Y, AR X EF Y BBREEL (X, Y) Ko

REXESYNBRETRASHK , HPETHREEREN X, Y) HBERERNEE, HRSEHREEX
B, HRpFHEFR N a &), zE&X)EBARNFHFHEERANER , 8E X, Y T2 TEN®
B XEYERYIXNEMNZRFREENEE LNZRRFAEENFTESRMEEN.

RNEBREHESOETFIEFNRFXEY , EXEY ReEANFHRFERENERE , WHKXRH X
BYNRNMNFHFREELNES , ATEHHERE , SN F7HFEEAXBREAFTHHSEFIELR
PR E R BRI BB,

BARHA :
F—1TA—EBHT(1<T<20), RRETEHIHER
B-FAEEHE—TERMEZRHEM N, ETRHMIT, E—TENEEZS

B M N, I<MN<32
n FEFRHRARTR

b HHEREA

HNE—FAEEH  A3Tad 27 B8F : F—1TA—EEFEK , RRELWBPEA , B KEHLTETIE
FH X, Y 2BREFRE SR |, BTH 26 EEH  2EEIBEELEZPVEA-ZHBEEKH X, Y
NN FHFREOXEEF , LA-MAE—1T. N-ZEB—1T
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